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C1 COD <250 0.90 30.1 Cc =30.1 = xCOD/ 1,000x0.90
C2 | 250<COD<400 | 1.00 30.1 Cc =30.1 = xCOD/1,000x1.00
C3 | 400<COD<500 | 1.16 30.1 Cc =30.1 = xCOD/1,000x1.16
C4 | 500<COD<600 | 1.33 30.1 Cc =30.1 = xCOD/1,000%1.33
C5 | 600<COD<700 | 1.53 30.1 Cc =30.1 = xCOD/1,000x1.53
C6 | 700<COD<800 | 1.76 30.1 Cc =30.1 = xCOD/1,000%1.76
C7 800<COD 2.00 30.1 Cc =30.1 = xCOD/1,000%2.00
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s1 SS <150 0.90 435 Cs=43.5 ~xSS /1,000%0.90
2 150<SS<300 1.00 435 Cs =43.5 ~xSS /1,000x1.00
S3 300<SS<360 1.16 435 Cs =435 ~xSS /1,000x1.16
S4 360<SS<420 1.33 435 Cs =435 ~xSS /1,000x1.33
S5 420<SS<480 1.53 435 Cs =435 ~xSS /1,000x1.53
S6 480<SS<540 1.76 435 Cs =43.5 ~xSS /1,000x1.76
s7 540<SS 2.00 435 Cs =43.5 =SS /1,000x2.00
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pH1 5< pH <10 0.00 Cpn=8.4 ~x0.00
pH2 4<pH <5 ; 10< pH <11 1.00 CpH =8.4 <x1.00
pH3 3<pH <4 ; 11< pH <12 2.00 CpH =8.4 <x2.00
pH4 2<pH<3; 12<pH <13 3.00 Cpn =8.4 ~x3.00
pH5 pH <2 ; 13< pH 4.00 CpH =8.4 ~x4.00
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EC1 EC=4,000 0.00 Cec=8.4 ~x0.00
EC2 4,000<EC =5,500 1.00 Cec =8.4 £ x1.00
EC3 5,500<EC = 7,000 2.00 Cec =8.4 £ x2.00
EC4 7,000<EC =8,500 3.00 Cec =8.4 £ x3.00
EC5 8,500<EC = 10,000 5.00 Cec =8.4 £ x5.00
EC6 10,000<EC 10.00 Cec =8.4 ~x10.00
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EC4 6,000<EC =7,500 3.00 Cec =8.4 ~x3.00
EC5 7,500<EC =9,000 5.00 Cec =8.4 £ x5.00
EC6 9,000<EC 10.00 Cec =8.4 £x10.00
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